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Importaﬁt Instructions

1. All the questions are multiple-choice type and answer all the
questions.

2. This Question Booklet contains 200 questions in all
comprising the following three parts:

Part-1 : English (50 Ques.)

Part-2 : General Knowledge (50 Ques.)

Part-3 : Mathematics/intelligence Test (75+25 Ques.)

3. Candidate should indicate his Name, correct Roll Number,
Question Booklet No., Exam Centre Code. Question Booklet
Code and Class on the OMR Answer-Sheet, otherwise the
Answer-Sheet will not be evaluated and the candidate will be
solely responsible for it.

4, Each question has four alternative answers. The candidate
has to darken only one cirgle/bubble on the Answer-Sheet
using blackball-peint pen indicating the correct answer as
shown. If more than one answer’ option is found darkened,
then the question will be treated wrong and will not be
evaluated.

Example: @ Q00

5. Rough Work is to be done in the space provided in the
question Booklet only.

' B. Use of white fluid or blade for comection on the Answer-

Sheet is not permissible.

7. Use of Electronic Calculator and Mobile, etc.. is not
permissible.

8. After completion of examination, you are allowed to take
away your Question Booklet.

9. There is no negative marking.

DO NOT OPEN THE SEAL OF THE QUESTION BOOKLET UNTIL YOU ARE TOLD TO DO SO

(1)
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ENGLISH

Direction: Read the story and answer the
questions from Q. 1 to 4.

One day a rude man came to Gautam Buddha
and started shouting at him, “You have no right
teaching other.” He wanted to insult him more,
so he kept shouting. “You are a fake person and
everyone who is following you is also a fake.”
Gautam Buddha listened to him very carefully,
but he didn’t get angy. He called that person
near to him and said, “Dear, tell me one thing. If
you bought a gift for a friend and he denies
accepting the gift, in this situation to whom
does that gift belong?”

The rude man was surprised to be asked such
polite question all of sudden, but he said,
“Definitely it would belong to me as I've bought
that gift.”

Buddha smiled and said, “Yes dear, you are
right. And it is exactly the same with your anger
and bad words. If you say bad words to me and
| don't feel insulted or | am not angry with you,
then your anger and bad words fall back on
you.” The rude man kept listening to him with
his wide open mouth. Buddha continued, “You
are the only one who becomes unhappy
because | didn't feel insulted. In this way you
hurt yourself. So, my dear you should get rid of
your anger and stop behaving badly. Love
yourself and spread love and happiness.”

1. What did the rude man call Gautam
Buddha?
(a) a fake person
(b) a wise person
(c) a devote
(d) an angry person

2. What do you understand by ‘the rude man
kept listening to him with his wide open
mouth.’?

(a) he wanted to eat something

(b) he was getting bored with his examples
(c) he wanted to shout on him

(d) he was surprised with his word

3. What can replace ‘to get rid of’?
(a) enhance
(b) get involve into
(c) disburden
(d) get identification

(3)

4. What is the education of Gautam Buddha to
the mankind?

(a) behaving badly spreads happiness and
love

(b) we should spread happiness and should
behave badly

(c) happiness and love can lead to anger and
bad behaviour

(d) none of these

Read the poem and answer the questions from
Q. 5-9.

Fred is a very lazy frog, who lolls all day upon a
log.

He always manages to shirk, doing a single
stroke of work.

His poor old mother calls in vain “Come in and
help!”

He does not bother to move two inches, much
preferring, to be extremely hard-of-hearing.
He lies there in a silent heap and stays
conveniently asleep.

If a lady frog hops past, you'd think he would
get up at last

To bow, and help her on her way? But no, | am
ashamed to say.

That when a lady frog comes by, he does not
open up one eyel

5. What is the meaning of ‘lolis all day upon a
log’?
(a) sitting on log lazily, doing nothing.
(b) working on the log all day.
(c) taking care of the log all day.
(d) hunting for his food all day.

6. What do you understand about Fred by “to
be extremely hard-of-hearing”?
(a) He is deaf
(b) He cannot hear properly
(c) He acts as if he hasn’t listened
(d) He never helps

7. How does Fred behave with lady frog?
(a) He helps to carry her baggage
(b) He bows in order to show respect
(c) He snatches her baggage
(d) He avoids them
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8. Identify the synonym of lazy.
(a) Inert (b) Inactive
(c) Idle (d) All of these

9. Identify the correct sentence with the use of
word ‘hop’, meaning same as of If a lady
frog hops past’.

() Hop in the car and leave from here.
(b) To show their joy, the kids hop with
claps.

(c) My friend was in hurry, he hopped up
without noticing me.

(d) None of these

10. Find the correct idiom for ‘You have to
work hard to achieve success.’
(a) Work hard
(b) Bread the rock
(c) No pain, no gain

(d) Can’t be said

11. Find the correct meaning of underlined
idiom.
Travelling in the planes is a dime a dozen
these days.
(a) very rare (b) very frequent
(c) very common (d) very dangerous

12. What is the meaning of the idiom ‘a couch
potato’?
(a) Lazy person
(c) Sitting person

(b) Sleeping person
(d) all of these

Direction: Fill in the blank with correct
conjunction (Q. 13 to 15)

13. Two years have passed | passed class

four.
(a) since (b) with
(c) for (d) of

14. Akash didn’t practice the swimming.
he couldn’t win a prize in the
competition.
(a) Within
(b) Withhold
(c) Consequently
(d) Whatever

(4)

15. | was not in Delhi, | couldn’t attend

your party.
(a) because (b) or
(c) and (d) so

Direction: Insert the suitable preposition.

(0.16 &17)

16. India is the land diversity.
(a) in (b) with
(c) of (d) for

17. The weather is pleasant today as it has been
raining________ morning,
(a) for (b) since
(c) with (d) from

18. Identify the adverb which tells about the
extent of an action.
(a) almost
(c) only

(b) enough
(d) all of these

19. Identify the adverb in the following
sentence.
My father will go to Agra to buy a new car.
(a) will go to Agra
(b) to buy a new car
(c) to buy
(d) My father will

20. Which of the following is an adverb?
(3) Underground (b) First
(c) Cheerfully (d) All of these

21. Insert the suitable adverb.

Walk . The road is very slippery.
(a) quickly (b) loudly
(c) easily (d) carefully

Direction: Complete the sentence with the
suitable articles. (0.22 & 23)

22. It was __honour for my father to be
invitedas ____ chief guestat ____ annual
functionof ____ school.

(a) a, the, the, 3, a

(b) an, the, a, a, the

(c) an, no article, a, the, a
(d) can’t be determined
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23.

24.

25;

26.

27.

28.

28.

30.

Sweden is European country.
(a) the, an (b) no article, a
(c)a,an (d) the, a
Give the antonym of ‘secure’.
(a) assured (b) uncertain
(c) safe (d) connect
Give the antonym of ‘leisure’.
(a) imprisonment (b) recess
(c) ease (d) relaxation
Give the synonym of ‘chase’.
(a)pursue (b) follow
(c) track (d) all of these
Give the synonym of ‘boisterous’
(a) energetic
(b) high spirated
(c) exuberant
(d) inactive

Arrange the jumbled words into a
sentence.

First/ was/ Dr. Rajendra/ president/ of/
Prasad/ the/ India

(a) First president of India was Dr. Rajendra
Prasad.

(b) Of the India Dr. Rajendra Prasad was the
president first.

(c) President of first the India was Dr
Rajendra Prasad.

(d) Dr. Rajendra Prasad was the first
president of India.

Change the voice of the following
sentences.

My grandmother told me many stories in
my childhood.

(a) My grandmother in my childhood told
me many stories.

(b) Many stories in my childhood had told
me by my grandmother.

(c) I was told many stories by my
grandmother in my childhood.

(d) Can’t be converted

Give one word for the person who works for
the country,

(a) Army man (b) Patriot

(c) Leader (d) Common man

(5)

Identify the correct spellings, (Q.31 to 33

31.
(a) Carbator (b) Carburetor
(c) Carbeator (d) Carbiator
32.
(a) Playwright (b) Playwrite
(c) Plywrite (d) Plywregh
33.
(a) Pronunciation (b) Pronounciation

(¢) Pronounseciation  (d) Pronunsiation

34. Which of the following is not a verb?
(a) custom (b) modify
(c) customize (d) accustom

35. Complete the sentence with the use of
correct tense.
There no shops open in the night.
The all
(a) are, were closed up
(b) were, had closed down
(c) were, were closed up
(d) are, never open

36. Complete the sentence with required
tense.
He seemed very tired because he
since morning.
(a) has been working
(b) have been working
(c) had been working
(d) was working

37. Categorise ‘Mount Everest’ into a type of

noun.
(a) Common noun (b) Proper noun
(c) Collective noun (d) Countable noun

38. Categorise ‘Air’ into the type of noun.
(a) Common noun
(b) Countable noun
(c) Collective noun
(d) Uncountable noun
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Direction: Choose the suitable word
(Q.39to 40)

39. Arrive : Depart :

: Annoy : ?
(a) Deny (b) Hesitate
(c) Pleased (d) Disobey

40. Affection : Attachment :: Glow: ?
(a) Shine (b) Dark

(c) Sky (d) Water

41. \dentify the correctly punctuated sentence.

(a) Good bye, It was nice meeting you.
(b) Good bye! It was nice meeting you.
(c) Good bye: it was Nice meeting you!
(d) None of these

42. Convert the following sentence into the
indirect speech.
Akanksha said to Pratyush, “Why are you so
late?”
(a) Akanksha told Pratyush that he is late.
(b) Pratyush asked to Akanksha to be late.
(c) Pratyush was asked by Akanksha to be
late.
(d) Akanksha asked Pratyush why he was
late.

Directions: Complete the sentences

(Q. 43 t0 50)

43. Akash is an awesome musician. He

so well.
(a) sang (b) sung
(c) sings (d) singing
44 . People say it is beautiful.

(a) Have you never visited the Taj Mahall
(b) Has you never visited the Taj Mahal!
(c) Have you ever visited the Taj Mahal?
(d) Did you ever visited the Taj Mahal?

45. 1 not
(a) have, watch
(b) have, watched
(c) have been, watching
(d) none of these

that film.

(6)

46. Last evening, Sharad along the
seashore to witness the sunset.

(a) drive (b) strolled
(c) crawled (d) rode

47. My brother __ this movie twice.
(a) never see (b) have seen
(c) will see (d) has seen

48. Ishaan the ball beyond boundary.

(a) hate (b) gave
(c) have hit (d) hits
49. You go and talk to your teacher to
learn the grammar lesson properly.
(a) may (b) might
(c) ought to (d) must
50. | find Science Maths.
(a) easier than (b) equal to

(c) as beautiful as (d) easiest than
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51.

52.

53.

54,

55.

56.

57.

58.

59.

60.

GENERAL KNOWLEDGE

A piece of an apple when exposed to the
atmosphere, turns brown. This is an
example of:

(a) Physical change
(c) Both (a) & (b)

(b) Chemical change
(d) None of these

Which of the following is the largest natural
satellite in our solar system?

(a) Triton (b) Calisto

(c) Ganymede (d) Tatiana

Which is the oldest Dravidian language of
the south that has been proclaimed a
classical language?
(a) Kannada

(c) Malayalam

(b) Telugu
(d) Tamil

Utkala Kingdom of ancient times was
presently located in which state?

(a) Telangana (b) Odisha
(c) Bihar (d) Assam
R K Narayan wrote a number of stories

about a mischievous boy and his friends.
The name of the boy is ;

(a) Krishna (b) Mowgli
(c) Raju (d) Swami
Wimbledon, a Grand Slam Tournament is

played on which court?
(a) Clay Court
(c) Grass Court

(b) Hard Court
(d) Carpet Court

Asia’s largest solar plant was inaugurated by
Hon'ble Prime Minister Narendra Modi in
which state?

(a) Tamil Nadu

(c) Madhya Pradesh

(b) Kolkata
(d) Karnataka

In which place Budha delivered his first
sermon?

(a) Kushinagar
(c) Varanasi

(b) Sarnath
(d) Bodh Gaya

Tansen was a great musician during the
reign of
(a) Babar

(c) Shah Jahan

(b) Aurangzeb
(d) Akbar

The city famous for its Chikan Kari work of
embroidery is

(a) Lucknow
(c) Kolkata

(b) Delhi
(d) Kanpur

7
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61. The study of universe is known as

62.

63.

65.

66.

67.

68.

69.

70.

(a) Astronomy

(b) Astrobiology
(c) Aerology

(d) Cosmology

Which planet of solar system is also known
as “Earths twin"?

(a) Mercury

(b) Mars
(c) Venus

(d) Jupiter

The time of India is ahead of Prime meridian
by how many hours?

(3) 6 hours 20 minutes

(b) 3 hours 10 minutes

(€) 7 hours-10 minutes

(d) 5 hours 30 minutes

. There are countries that share land

boundaries with India.
(a) Eight
(c) Ten

(b) Seven
(d) None of these

The oldest mountain ranges in India is the

(a) Himalayas
(c) Aravali Mountains

(b) Western Ghats
(d) Shivalik

The endangered Asiatic Lions found in
which National Park?

(a) Kaziranga National Park

(b) Giri National Park

(c) Ranthambore National Park

(d) Jim Corbett Park

Right to property is a
(a) Moral Right

(b) Fundamental Right
(c) Legal Right

(d) Personal Right

is White Gold.
(a) Platinum
(c) Silver

(b) Copper
(d) Bronze

First computer virus was known as
(a) Rabbit (b) Creeper Virus
(c) Elk Cloner (d) SCA Virus

Name the first person to be awarded with
Param Vir Chakra?
(a) Somnath Sharma
(c) Albert Ekka

(b) Abdul Hamid
(d) Sam Manekshaw
(8)
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71. Winter Solstice occurs on
(a) 23" September  (b) 21 March
(c) 21* June (d) 22" December

72. Which of the following makes bread fluffy?
(a) Virus (b) Fungi
(c) Protozoa (d) None of these

73. _____ isthe second largest planet of our
Solar System.
(a) Mars (b) Jupiter
(c) Saturn (d) Uranus

74. World “Books Day” is celebrated on .

(a) 28 Feb (b) 23 July
(c) 23 Apr (d) 02 Nov

75. Which bird does not make its own nest?
(a) Cuckoo (b) Crow
(c) Pigeon (d) Woodpecker

76. Which mineral keeps bone and teeth

strong?
(a) Iron (b) Calcium
(c) lodine (d) None of these

77. Vitamins and minerals act as in
our body.
(a) Protective food
(b) Body building food
(c) Energy giving food
(d) None of these

78. What is the phenomenon of light bending
when it passes through a glass prism?

(a) Reflection (b) Diffraction

(c) Refraction (d) Absorption
79. 1 byte is equal to .

(a) 2 Nibble (b) 4 Nibble

(c) 8 Nibble (d) 16 Nibble

80. The revolt of 1857 started from __.
(a) Delhi (b) Kanpur
(c) Meerut (d) Allahabad

81. On which river in Uttarakhand is the Tehri
Dam being constructed?
(a) Bhagirathi (b) Ram Ganga
(c) Alakananda (d) Bhilangna

(9)
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82.

83.

85.

86.

87.

88.

89.

90.

91.

What is the minimum age required to

contest for the Lok Sabha election?
(a) 18 Years

(b) 30 Years
(c) 35 Years (d) 25 Years
— _isoldest Veda.
(@) Samveda (b) Atharveda
(€) Yajurveda (d) Rigveda

- How many foreigners can play in each team

of IPL?
(a)a (b) 3
(c)5 (d) 2

Vitamin B-2 helps in
(a) Tissue repairing

(b) Producing RBCs

(c) Respiration

(d) Blood clotting

What is the largest denomination of the
coin which is in public circulation in India?
(@)X10 (b) X 100

{c)X50 (d)x20

India’s largest rope way is being built over
river

(a) Sutlej (b) Ganga

(c) Narmada (d) Brahmaputra
Shri Yogi Adityanath is Chief Minister
of Uttar Pradesh.

(a) 22 (b) 231

(c) 21% (d) 20t

Who is the cabinet minister of Jal Shakti in
Govt of India?

(a) Shri Ashwani Vaishnav

(b) Shri Gajendra Singh Shekhawat

(c) Shri Kiren Rijiju

(d) Shri Hardeep Singh Puri

Nelson Mandela was famous leader of
(a) India (b) Russia ‘
(c) South Africa (d) South America

Who is widely considered as the “Father of
Mathematics”?
(a) Archimedes
(c) Ramanujan

(b) Einstein
(d) Aryabhatt

(10)
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92. The only sports person to receive ‘Bharat
Ratna’ Award is
(a) M S Dhoni
(c) Saina Nehwal

(b) Rohit Sharma
(d) Sachin Tendulkar

93. Anything that has mass and occupies space

is called
(a) Air (b) Matter
(c) Object (d) Molecules

94. The second layer of Earth’s atmosphere
| S
(a) Stratosphere
(c) Ecosphere

(b) Mesosphere
(d) Troposphere

95. Which of these animals is an omnivore?
(a) Deer (b) Lion
(c) Beer (d) Cow

96. Where does the digestion of food starts in
human body?

(a) Mouth (b) Stomach

(c) Liver (d) Small Intestine
97. -40° Fahrenheit = " Celsius

(a) -40° (b) -140°

(c) 40° (d) 140°

98. What time does the light from the sun takes
to reach the earth?
(a) 8.33 minutes
(c) 18.33 minutes

(b) 88.33 seconds
(d) 8.33 seconds

99. XXXIIl Olympics in 2024 are being held in
which city?
(a) Los Angeles
(c) Tokyo

(b) New York
(d) Paris

100. How many Gold Medals India won in
Asian Games 20227
(a) 27 (b) 28
(c) 29 (d) 30

(11)

92. TR T GUHT T ) 2 e
faendt &)
(a) un ug Grft
(c) |TET AgATE

(b) e
() e S

93. % oft, vt zommr & it i corr ey 8,
Fgerrt 2 -

OELR (b) 7514
(c) 7] (d) 3
94, gedt F argHET R @A T R.......
(a) GHATIHSA (b) HEIHUZH
(c) Titfaferea (d) Fvvise
95. 0 B P G AL gaiant 27
(a) & (b) I
(c) ¥Te], (d) T
96. T I 7 IS %1 9T Fal & I 8T 87
(@) e (b) ¥
(c) TR (d) B 31
97. -40° BIAETER = Afcwa
(a) -40° (b) -140"
(c) 40° (d) 140°

98. G % ST Rt Qe R age H Tohe we S 82

(a) 8.33 fime (b) 88.33 9s
(c) 18.33 fimz (d) 8.33 Vs
99. 2024 1 337 3 fFe W B arfeE g s @
2
(a) ATH Goied (b) =T
(c) = (d) U
100. TfirmE @et 2022 ® 9E 3 fram wof ya s
(a) 27 (b) 28
(c) 29 (d) 30
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MATHEMATICS

1
01.1f 28 men complete % of a piece of work in

ZWeEk. then the number of men, who must
€ engaged to get the remaining work

completed in another week Is:
(a)s

(b)e
(c)a
(d) 3

102. A machine P can print one lakh books in 8
hours, machine Q can print the same
number of books in 10 hours while machine
R can print them in 12 hour. All the
machines are started at 9 am while machine
P is closed at 11 am and the remaining two
machines complete the work.
Approximately at what time will the work
be finished?

(a) 11:30 am

(b) 12:00 noon

(c) 12:30 pm

(d) 01:00 pm

103. The average age of 8 members of a group

is 40 years. Among them the age of one
member is 55 years. After his retirement a
new member whose age is 39 years comes
in his place. What is the effect on the
average age of group?

(a) 2 Years

(b) O Years

(c) 3 Years

(d) 5 years

104. A:Bisl:Z,B:Cis3:Z,C:Disl:a.Find

A:B:C:D?

(a)3:6:9:12
(b)3:4:8:10
(c)2:6:8:10
(d)3:6:4:12

105. The ratio of the father's age to the son’s

ageis4:1.The product of their ages is 196.
What will be the ratio of their ages after 5

years?

(a)11:3
(b)11:4
(c)12:3
(d)12:4

(12)

101, af2 zame%%ma}mmﬁw
miaﬁaﬁgqmﬁwwﬁwm%ﬁq
F#-a‘lg{sﬂaﬁrsnma»‘cﬂ#ﬂ?

(a) 5
(b) 6
(c)4
(d)3

102. qﬁﬂ?,ﬂdﬁﬁ@a@ﬁﬁﬁmmamﬁq
Qmamﬁioﬁ%ﬁwaﬁﬂ%aﬁﬁsmﬁz
R 125 3 BT e 21 et i 9 AM AT
el & SR T P 1 AM TT g 2 STt 2 3
S 2wy e o et & | e T R
THTH &Y
(a) 11:30 am
(b) 12:00 Q&L
(c) 12:30 pm
(d) 01:00 pm

103, T g ¥ 8 HEE H1 A A O T AT
g ) 317 55 9 B I ar-Faf F eI
T U U 39 T 1 T UG AT 8 T
i i A T R I T
(@)2ad
(b) 0=
(c)3 9%

(d) 5=

104. TRA:B=1:2,B:C=3:2,C:D=1:3F
A:B: C: D fFashsuatam ?
(@)3:6:9:12
(b)3:4:8:10
(c)2:6:8:10
(d)3:6:4:12

105. e T 3t 31Ty o 19 ot ot 77 A I
4: | R TR ATY HEER 196 31 5T @
S AT T AT ST B
(@11:3
(b)11:4
(c)12:3
(d)12:4
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106. A man sells his good at x % loss but he
uses 25 % less weight and he still gains 20 %
overall profit, Find the Selling Price?

(a)X 89 (b) X 87
(c)X90 (d) X 88

107. There are total 600 students in a school.
Average age of boys is 12 years and of girls
is 11 years while average age of all students
is 11 years 9 months. Find the number of
girls in the school?

(a) 130 (b) 140
(c) 150 (d) 160

108. Ifa =3+ Zﬁ, then the value of
ab+a*+aZ+1
T s

(a) 192

(b) 240

(c) 204

(d) None of these

7y=-3 | 7z

“+ + 2222 = 0, then the value
y z

of —+=+2is:
X y z

(a)7

(b) S

(c)1

(d)o

109, 1f2X=3
x

110. Two equal amounts of money are
deposited in two banks each at 15% per
annum for 3.5 years and 5 years
respectively. If the difference between their
simple interest is X 144, then find each
sum?

(a) X640
(b) X680
(c) X720
(d) X 740

111. Two men A and B working together
complete a piece of work which it would
have taken them respectively 12 and 18
days to complete if they worked separately.
They received the total payment X 149.25.
Find their shares,

(a) X 89.55, 59,70
(b) ¥ 90.55,%X58.70
(c)X91.55,%57.70
(d) Can’t be determined

(13)

106. T =afn 7o TG 1 x % BT I AT
ﬁﬁmnzs%mmwmm%mﬁ

m%qtzo%mmwmélﬁmr@mm?
(a) X 89 (b) X 87
()X 90 (d) X 88

107. wq@ﬁemmmmaﬁaﬂmmﬁu
a9 s TgiRat i 3t 3y 11 2 2 A g
STl T et a1 1175 9 7T | ey
forerft ergfemai € 2

(a) 130 (b) 140
(c) 150 (d) 160
108. AR a=3+2y2,7 m U J10
&l | ’
(a) 192
(b) 240
(c) 204
(d) T A 7

109 AR E2+ X2 P g @ 24 24l
EI'WI'-T'&%T: g ’ Ty
@7
®9
(c)1
@o

110. 3 OuH TRET Y 15% it & 3 F § o
3,538 7 5 99 & e st e war | 7fe 3N S
T f3U T AT o3 T HR 144 TR D ISF
AT I o 2
() X 640
(b) X 680
(c) X 720
(d)X 740

111. arafth A 3N B T F &t vt QU &
oy o s 12 9 18 foAE & ovehet QU At w8 |
I6 F X149.25 W B & | IehT fovrr e |
(a) X 89.55, % 59.70
(b) X 90.55,% 58.70

()X 91.55,% 57.70
(d) Frerifea =& fomar S waman
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112. On a test consisting of 250 questions, Jassi
answered 40% of the first 125 questions

correctly, What percent of the other 125

questions does she need to answer

correctly for her grade on the entire exam
to be 60%.

(a) 75
(b) 80
(c) 60
(d) Can't be determined

113. A pipe can fill a tank in x hours and
another can empty itin y hours. In how
many hours will they together fill it if y >
x?
(a) == hrs

y=x

(b) = hrs
xy

(c) % hrs

(d) Can’t be determined

114. Five sixth of a numberis 720. What will

45 % of that number be ?
(a) 346.6 (b) 388.8
(c) 392.2 - (d)344.4

115. Two persons A and Bwalk from P to Q,

which are at a distance of 21 km, at 3 km/hr
and 4 km/hr speed respectively. B reaches
Q and returns immediately and meets A at
R. Find the distance from P to R.

(a) 12 km (b) 16 km

(c) 28 km (d) 18 km

116. If a2 = by +cz, b*=cz+ax &

¢? = ax + by then the value of

I L
;:;+b+y+c+z 1
(aJa+b+c

1 1 1

LIZ+5+e
(c)1
(d)0

(14)

12. 250 et ATt T e A e 3 ved 1253 &

A0 % a0 e fu | weel e & Seeh IS 60%
& gk for 38 9 125 Wit & & fohet s % s
gé AN 7

(a) 75

(b) 80

(c) 60

(d) Frerifia & foha < @har

13, T IEY T S i O EeRT @ A gE
Ty 3 y T et 3w 21 3l e 38
R a G ak y > x?

xy
(8) 5= brs

114. afe ford == %ﬂm?zo%,a‘rmﬁwm
45% FT T ?
(a) 346.6
(c)392.2

(b) 388.8
(d)3444

115. Ar=afw A 3R B {55 P A Q & o0& wFaw:
3 ferefi/eiar 3fit 4 fpefi/der it =rer & 9o 21 P 3t
Q& HI gl 21 i 2 | B, Q RUgEH T
U Siear & I sl Ty A A R W e | P

AR FATR @ IR
(a) 12 Torlt (b) 16 Tl
(c) 28 Tt (d) 18

116. AR a® =by+cz, b2 = cz+ ax &

> =ax+byd — 4 X4 2

at+x  b+y c+z
1 HE B

(@a+b+c
by~ +242

a b c
(c) 1

(d)0
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117. If [E4 [ = 10 = % 2o 10
J:+‘[;_ - andx +y =10, 17. Hﬁﬁ—f—l;— ?Wx+y=10,

then the value of xy will be : A Xy 1w A
(a) 36 |
(b) 24 e
(c) 16 (2
(d) 9 (c) 16

()9

118. In a division sum, the divisor is 7239,

quotient is 1308 and the remainder is 209. 118, ek W % 95 H Y151 7239, ¥IThe 1308 31T

By how much should the dividend be B 200 B | WTST Bl a1 srera 91 for 38 et
increased so that when it is divided by the TS & 907 2 9T TR 1311 3 396 730
same divisor, quotient is 1311 and QT e
remainder 730 is obtained?
(a) 51459 . (a) 51459
(b) 22238 (b 22235
(c) 31635 (c) 31635
(d) 55038 (d) 55038
119. Sound travels 330 metres per second. If 119. @A uFAHS T 330 X AT IHATHEAT 2 | 5
the sound of a thunder cloud follows the w Tt Tt % 10 SFS F IR GRS 2, @
flash after 10 seconds, then the thunder Wﬁﬁﬁ?ﬁ‘ﬂﬁ'ﬂ 9 ;
cloud is at a distance of : (a) 3.7 Fft
(a) 3.7 Km .
(b) 3.5 Km 05 3.5l
(c) 3.3Km (@33t
(d) 3.8 Km (d) 3.8 feft

120. 2 ST GEATS N FIIE 11 : 128 | STHT
UGS 4752 | ST & I HEA FAH 2

120. Two positive numbers are in the ratio
11 : 12. Their product is 4752. What is the

smallest number ? ) 60
e
(c) 55 (€55
(d) 65 (d) 65

121. @S HL: 8x3 + 12x% + 6x + 1

121. Factorize :8x3 + 12x% +6x + 1
(a) (2x + 1)3

(a) (2x + 1)?

:b)) ((Zx +1)13)z (x+1) i £ D3P e )
c) (x + g

(d) None of these :3 gﬂ.; gﬁqﬁ

(15) SET-A/CLASS-VI/2024-25



Directions: (Q.Nos. 122 - 126) Read the

following bar chart and answer the questions
that follows.

Percentage of different types of cars
mManufactured by a company over 2 year,

. (e 122-126 ) U MO AT amé v srera

A M
ahrfori afte Arir g staft 1 3T
Faefy st A 2.t 3 6 Farfir=1 ST o =Rt =7 wferera

o Ieqred |

1

PISES o B |
|
]

= [ S U

r FIaT
% A
i e
A
T

. B Q

R

¢ bl tize
2. S2IEEies
S AR e

2012
Total No. of Cars produced
ol ool

2013
Total Ho. of Cars produced
440000

A

=EP

FRT Y FH

122. Total number of cars of model P, Qand T
manufactured in 2012 is :
(a) 245000 (b) 227500
(c) 210000 (d) 192500

123. For which model the percentage rise/fall
in production from 2012 to 2013 was

minimum:
(a)a (b) R
(c)S (d)T

124. What was the difference in the number of
Q type cars produced in 2012 and that
produced in 2013,

(a) 35500 (b) 27000
(c) 22500 (d) 17500

125. If the percentage production of P type
cars in 2013 was the same as that in 2012,
then the number of P type cars produced in

2013 would have been:
(a) 140000 (b) 132000
(c) 117000 (d) 105000

126. If 85% of the S type cars produced in each
years were sold by the company, how many
S type cars remained unsold ?
(a) 7650 (b) 9350
(c) 118500 (d) 12250

(16)

122. 2012 % Fiffa FR iser P, Q 3 T A Far v
8
(a) 245000
(c) 210000

(b) 227500
(d) 192500

123. Tre dfesa & 79 2012 & 2013 9% =1 s@EA &

ST/ fFrTere T e <an & 2
®Q ®R
©S T

124, Q YT T R I ST T A 2012 30K
2013 ¥ faa A 2
(a) 35500 (b) 27000
(c) 22500 (d) 17500

125. uﬁpmﬁmemmaqsrﬁmzmﬁﬂ

2012 ¥ a2 Y P YR AT HRY 7 2013
AT BT

(a) 140000

(b) 132000
(c) 117000

(d) 105000

126. 3R SRS SR oy 594

gurﬁam%mmsmﬁmmﬁ@ﬁw
?

(a) 7650 (b) 9350

(c) 118500 (d) 12250
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Directions (Q Nos 127-131) Read the
information and answer the questions given
below :

A survey of film watching habits of people living
in S cities P, Q, R, S and T is summarized below
in a table. The column I in the table gives
percentage of film-watchers in each city who
see only one film in a week. The column Il gives
the total number of film watchers who see two
or more films per week.

CITY/ET ) ]

P 60 % 24000
Q 20% 30000
R 85% 24000
S 559% 27000
T 75 % 80000

127. How many film watchers in city R see only
one film a week ?
(a) 24850
(b) 36000
(c) 136000
(d) 160000

128. Which city has the maximum number of
film watchers who see only one film a
week?

(a)p
(b) R
(c)S
(d)T

129. A city with the minimum number of film
watchersis:
(a)P
(b)Q
(c)S
(d)T

130. The maximum number of film watchers in
any given city is :
(a)Q
(b) R
(c)S
(d)T

131. The total number of all film watchers in
the five cities who see only one film in a
week is :

(a) 113000
(b) 425200
(c) 452500
(d) 500000

(17)

Preferftere AT 1 e ateras w5t ok
e fw o st (127-131) T T ¥

qi= W&l P, Q, R, S, 3T & 173 are sfveif oy fvewy
@A Y el I U AR A= v arferar F dafoe
fapar T & | arfereRT o hietd | el v f e Yy
arel | o1 wfawra gvIiar & STt O ure & Faer s frew
G T | FHiew 11 9 TuTs A 41 2 ¥ siferr fipedt 23

aTe! T e HEAT ZAT 8 |
CITY/¥Te I m
P 60% 24000
Q 20% 30000
R 85% 24000
s 55% 27000
T 75% 80000

127. TR RH fFeA fren @ I E St v aue &
Fad Gk fher @ 8 2
(a) 24850
(b) 36000
(c) 136000
(d) 160000

128. T wret # e SEA ATl i He ifwan 7
S O TS W e U fhen d@d € ?
(a)P
®)R
(©S
@T

129. 9% W Jal fhen 3@y Jrel it §ET va F9 &
(P
®Q
(c) S
@T

130. 98 W&t el fhed @ T i SET vey AfE
&

(@Q

(b)R

) S

@T

131, ST ETH U GHTE # dhael U fhed @A arelt
ﬁ?ﬂﬁw:
(a) 113000
(b) 425200
(c) 452500
(d) 500000
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132. For What valye of K, the given equation
will be a perfect square

[2a)(4a) (10 4
@30 Y0a1a) + Ka*]?

(b) 36
(c) 20
(d) 42

123 !f a line intersect two concentric circles
(circles with the sa me centre) with centre O

atA, B, Cand D, then which of the following
statement is correct :

Y,

(a) AB + CD = BC
(b) AD =2 BC

() AD=%AC
(d) AB =CD

134. Three circles touch each other externally.
The distance between their centre is 4 cm,
6 cm and 8 cm. Find the radii of the circles.
(a)2cm, 4cem, 6 cm
(b)1cm,3cm,S5cm
(c)2cm,3cm,4em
(d)4cm,6cm, 8cm

135. In A ABC, D, E and F are such points on
AB, BC and CA respectively that BD = BE
and CE = CF. Find the value of 2DEF if
£LA=47".

(a) 66.5°
(b) 127°
(c) 47°

(d) 133°

136. If the medians of a triangle are equal, then
the triangle is :
(a) Right angled
(b) Isosceles
(c) Equilateral
(d) Scalene

(18)

132, K % frer o & fog =Is
((2a)(4a)(10a)(11a) + Ka*] T = & 2
(a) 30
(b) 36
(c) 20
(d) 42

133, af o YT A B 79 (T 8 FR A )
= R F5 02, A, B, C 3D W ufi=a2 #,
AR FF TR ?

",

(a) AB + CD = BC
(b) AD =2 BC

(c)AD=%AC
(d) AB=CD

134, 1 o6 o 0 T o6l §9 8 TR A © | I
F2 Fdra R gl 4 3, 5 et ofk 6 AR | R
ajﬁﬁﬁﬂlﬁ‘lﬁm:

(a) 2 9, 4 A, 6 Ty
(b) 1 Y, 3 Aeft, 5 Aft
(c) 2 &ieft, 3 Qeft, 4 At
(d) 4 9fY, 6 Beft, 8 Aeft

135. A ABC 1 y=iaif AB, BC 39T CA W s
D, E 3R F ¥ fiig 2 o 5 BD = BE air
CE=CF ¥ | £ DEF %1 7H 14 #i1 a2
LA=47
(a) 66.5°
(b) 127°
(c)47°
(d) 133°

136. 3t forel Frgsr B e .
P I Al By 2

(b) o

(c) @ag
(d) forwrramg
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137. A ABE is an equilateral triangle formed on
the side of the square ABCD. Find £ ADE :
(a) 30°
(b) 150
(c) 90°
(d) 500

138. ABCD is a parallelogram in which
BC =10 cm and AB = 6 cm. If angle bisector
of £ Cintersect BA at T. Find the value of
AT:
(a) 6 cm
(b)4 cm
(c)5cm
(d) 10 cm

139. Find the unit digit of the number 37 :
(a)1
(b)9
(c)7
(d)3

140. Number of roots of the equation
32x%-7x+7 = g js -
@1
(b) 2
(c)3
(d) 4

141. Let X be any point within a square ABCD.
On AX, a square AXYZ is described such
that D is within it. Which one of the
following is correct ?

(a) AX = DZ
(b) LADZ = BAX
(c) AD = DZ

(d) .BAX = £ZAD

142. The three sides of a triangle are 15, 25
and x units. Which one of the following is
correct ?

(a) 10 < x < 40
(b) 10 < x <40
()10 < x <40
(d)10 < x <40

143. External angle of a regular polygon is 72°.
Find the sum of all its internal angles?
(a) 360°
(b) 480°
(c) 352°
(d) 540°
(19)

137. @ ABCD #} <11 T aa1g A ABE 772 |
£ ADE Fra %t :
(a) 30"
(b) 15°
(¢) 90°
(d) 50°

138, HMMHIT IS ABCD & BC = 0 &t 3t
AB -6 |IR L CHFipITSF BAFI T
FIZar & al AT %1 014 J1d F -

(a) 6 et
(b) 49t
(c)Sl?rT-ﬁ
(d) 10 2t

139. 3*0 1 SIS 3ieh 1A FA -
(@l
®9
(©7
3
140, @i 327747 = 9 F g um e
(a) 1
(b) 2
(c)3
(d) 4

141. TA AR X @t ABCD F i g 2 |
AX, RUF T AXYZ 39 TE T & 6 D 365
= d | FeRifea i s e A T ?

() AX = DZ

(b) 2ADZ = ¢BAX
(c)AD = DZ

(d) LBAX = £ZAD

142. 3f firelt Bnger i o 15, 25 R x TR E N
e T AP AT TR ?
(a)10 < x < 40
(b)10 < x < 40
()10 < x <40
(d) 10 < x < 40

143, Tf ok AW TS B TR R 72° R e et
afq: o7 T AT F1G HFA?
(a) 360"
(b) 480°
(c) 352°
(d) 540°
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3 2

x4y x=y !

then what is the value of -:; ?

(@3 (b) 5

2
@3 (d);

145. Find the least positive integer that should

be subtracted from 2022 x 2023 to get a
perfect square ?

(a) 2022
(b) 2023
(c) 2021
(d) 2024

146. 129 + 3% = 17and 2242 — 3b+1 = 5,
then the value of aand b is

(a)4,3

(b) 3,2

(c)2,3

(d)1,0

147. f a+ b+ ¢ = 0, then the value of
(ca2+bz+cz]2 .

(@)1

(b) 2

(c)3

(d)4

148. X has twice as much money as that of Y
and Y has 50% more money than that of Z.
If the average money of all of them is ¥ 110,
then the money which X has, is :

(a) X55

(b) X 60

(c)X90

(d) X 180

149. Three circles are described with the radius

5 cm at the corners of an equilateral
triangle as the centres, so that each touches
the other two. Find the non-common area
to the triangle and circles?

(a) 3.75 cm?

(b) 4.02 cm?

(c) 4.55 cm?

(d) 37.5 cm?

(20)

ey Cx+y  x-y ’
X a5t v A 2
(a)§ (b)>
1
CE 43

9

145, T8 e DI qATeT G 1 Fiferd
2022 x 2023 3 @ 2T I TG O 37 AT 2
(a) 2022
(b) 2023
(c) 2021
(d) 2024

146. AfY 20 4 3b = 17 3w 242 — 3641 = 5,
a 3 b T A I ;
(@)4,3
(®)3,2
©2,3
@1,0
147%:11::3 a+b+c=0,ﬁ§%ﬂm
?
(a1
(b)2
©3
(d)4

148. X FIRY AR ERTE SR Y SR Z
50 % 37T T R | 2 Y vt w5 v
R0 AX Fyg s do
(a) X 55
(b) X 60
()90
(d) X 180

149, Wmﬁﬁaa%zﬁ:ﬁqﬁq‘fﬁ%ﬁwm

ST S T SRR T s sy s 2 )
wm%ﬁ'q&m@ﬁﬁwsﬂﬁ'@ra}
[EREE Tk Ehin .

b SR T PR 3 A
(a) 3.75 oy
(b) 4.02 Fvfy
(c) 4.55 ¥y
(d) 37.5 2
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150. If G is the centroid and AD be a median
with length of 12 cm of A ABC, then the
value of AG is?

(a) 4 cm
(b) 6 cm
(c) 8 cm
(d) 10 cm

151. Which of the following sides form a acute
angled triangle?
(a)e6,9, 10
(b) 7,8, 11
(c) S, 12,13
(d) both (a) and (b)

152. A farmer has four children. One day he
decides to divide his field into triangular
forms for his four sons. The farmer’s field is
in the shape of a rhombus and has the
distance between the pairs of opposite
vertices as 120 m and 22 m. What would be
the cost of fencing the field at X 20/- per
metre?

(a) X 7320/-
(b)X 7720/-
(c) X 8520/-
(d) X 10560/-

153. A retail seller buys 30 pens at the marked
price of 27 pens. What is his profit percent?

(a) 115 %

(b) 115 %

(c) 115 %
(d) 20 %

154. If x is less than 2, then which of the
following statement is always true?
(a) x is negative
(b) 2x is greater than or equal to x
(c) x? is greater than or equal to x
(d) None of these

(21)

150. af2 AABC 1 5 G ® 3k miftgar AD fm

ward 12 ¥t B A AG F1 UM 313 v 2
(a) 4 ALt
(b) 6 i
(c) 8 Bt
(d) 10 &t

151, 3= % 8 = 91 G = 1 B i oqendt

AT ® ?

(a) 6,9, 10
b 7,8,11
(©) 5,12, 13
(d) (a) 3 (b)

152. & fFA %I E | & A atfm a2

9 © 1 = T B st F | 3 |
IHeH W FHATg IATHR H 2 foras faudia siwf A
0 120 Tt 3 22 et B 1 20 TR wfd Az it aw
B G I BT FA F Fo g 7 2
(a) X 7320/

(b) X 7720/-

(c) X 8520/-

(d) X 10560/-

153. o eeht ST 27 U o Sifehd go T 30 07

TliedT ® | 36F AW = Ifavd ra hiferd 2

20
(a) 11; %

10
(b) 115 %

1

(c) 11;%

(d) 20 %

154. AR x, 28 e A TR m RO

a2
(a) X FOMEHF &
(b) 2, X q T AT W &

() x?%, x AT AR R
(d) ¥ A FE T
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155. An amount doubles itself in 5 years with

simple interest. What is the rate of interest
Per annum?

(a) 20%
(b) 35%,
(c) 25%

(d) Can not be determined

156. The total ages of A, B and C at present is
90 years. Ten years ago the ratio of their

3B8Swas 1:2: 3. The present age of B is :
(a) 30 Years (b) 20 Years

(c) 40 Years (d) 45 Years

157. 1f a boat takes 4 hours to cover a distance
of 8 km upstream while the speed of the
stream is 1.5 km/hr. What is the speed of
the boat in still water?
(a) 4 km/hr

(b) 6.5 km/hr
(c) 3.5 km/hr

(d) 2.5 km/hr

158. Which of the following lengths are the
sides of a right angle triangle ?
(a)3.1,4.2,4.8
(b)4.3,4.4.45
(c)24,32,4
(d) All of the above

159. The ratio of the areas of the circumcircle
and the incircle of a square is :
(a)2:1
(b)v2: 1
©V2: V3
(d)v3:1

160. The cost price of 15 articles is same as the
selling price of 10 articles. The profit

percentis:
(a) 30% (b) 40%
(c) 50% (d) 45%

161. A 120 metre long train is running ata
speed of 90 km per hour. It will cross a
railway platform 230 metre long in:

(a) 4 Seconds
(b) 9 Seconds
(c) 7 Seconds
(d) 14 Seconds

(22)

(55, af d Tl ETETOT ST TS o & B 8 el
3, st A @ A A
(1) 20%
(b) 35%
(c) 25%
(d) e et Feram i et

156. A,nmﬁcﬁmmmmmaﬁl
maquzﬁaz@strgmmﬁl;:ﬂmlsﬁ

adAT A R
(a) 30 T4 (b) 2074
() 40 F§ (d) 45

157. afd s e arr i et fan § g ot gl 4
o2 3 et @ wfh g Ay e 1.5 e R,

= <t e sy & ifs @ ERi?
(a) 4 foreft/eieT (b) 6.5 farferer
(c) 3.5 Tersiyeiar (d) 2.5 /e

158, Frefeifiaa # & F € vomd wh wuenr Bgw 6
ERSE T A
(a) 3.1,4.2,4.8
(b)4.3,4.4.4.5
(c) 24,32, 4
(d) S0 ft

159. e =T & IRE quT 3F: o & Qe FT
EERICRS
(@2:1
®V2:1
©v2: V3
@vV3:1

160. 15 TGl 31 564 4, 10 et 3 e ea &
I & o e wfiverer <6t wmy Qoo
(2) 30% (b) 40%
(c) 50% (d) 45%

161.1} 120 Fe wft s Yty 90 feft wfy s A=

TTW R 230 '
mmm?%m@zmﬁmmﬁﬂ
(a) 4 Qg

(b) 9 Tz

(c) 7 Oz

(d) 14 ¥z
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162. A person was asked to state his age in
years. His reply was, “Take my age 3 years
hence, multiply it by 3 and then subtract
three times my age three years ago and you
will know how old | am.” What was the age
of the person?

(a) 12 Years
(b) 14 Years
(c) 15 Years
(d) 18 Years

163. The ratio of the angles 24 and 2B of non-
square rhombus ABCD is 4 : 5, then the
value of 2C is :

(a) 500
(b) 459
(c) 800
(d) 959

164. The figure below shows the length of the
sides of an equiangular polygon. What is the
area of polygon?

F 1 E
z I\ 2
¢ —Y'D
1
1 i 1
1 1
H c
2
A 1 B
(a) 1442
(b) 8
(c)9
(d)7

165. In the given figure AB || DC, find the value
of x (If it is a Trapezium) given po = 3,
0B=x—-3,A0=3x—-19,0C=x-5

(a)5
(b) 6
(c) 8
(d)7

(23)

162. e Y I A FA % forw 9=y A |
3o s o, <l 2w A sy e, 2 A
éwwﬂaﬁrmﬂﬁﬂﬂ?ﬁﬁmwaﬁmaﬁr
offet 7T st S SR 6 30y 7 g
S| 39 e H fpadt sy 2 2
(a) 1239
(b) 1439
(c) 154
(d) 18aY

163. W e ga=gds ABCD % #ivit £A @

LB FAA@4: 58, AL FHER
(a) 50°
(b) 45°
(c) 80°
(d) 95°

164. ot g St o W R Sgve o el
T IS TS | 5 g T &Rl T 2R 2
F _ E
i/ : ¥

L,
G D

- \

‘A’_ 1 B
(a) 14V2
(®) 8
©9
d7

165. fewmufea® AB || DC, X F10E J@ F @R
I8 T e ) | T} po = 3,
OB=x-3,A0=3x-19,0c=x-5

c
1]

(a)5
(b) 6
()8
@7
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FT O 15 8t 13 |ft 3k

166. Sides of a triangle are 15 cm, 13 cm and 166. ﬁgﬁﬁ 'ﬂmaﬁ Hlktle '

14 cm. Find th ; (4 Bt & 1 Byt

) e area of triangle.

15 34 s (a) 84 DAY’

i (b) 48 BV

i (c) 168 B

(d) 42 cm? O

167. A ABC 7 faig D 3 E FH: gmsi'ms A AC

167. Ina A ABC two points D and E are on the sic oo AD = -AB o ag = -AC o

side AB and AC respectively such that

= 15, aiDEﬁawéﬂmﬁm
AD = 4B and AE = 1 AC.If BC = 15 cm BLi=1

then find the length of DE. (@) ”%i;ﬂ
(@) 10 cm (b) 8

(b) 8cm (c) 6 Bt
(c) 6 cm (d) 58t

(d)Scm

_ 168. fewme o & £C %19 310 U |
168. Find the value of € in given figure.

B
@ (2)° ) (2) @ (5 ® (2)
(c) 71° - (d) 109° () 71° (d) 109°

169. ABCD TH 8, M, AB T weg f§
169. ABCD is a square, M is the mid-point of Wﬁﬁ%aﬁt N,BC

AB and N is the mid-point of BC, DM and FHA IR | DM S AN, O [EERNECE R
AN are joined and they meet at 0, then ﬁﬁqmﬂ?ﬂﬁﬁﬂﬂﬁ?mm%f?

which of the following is correct ? @0A:0M=1:2

(a)OA:0M =1:2 () AN = MD

(b) AN = MD (c) 2ADM = £ANB

(c) LADM = LANB

(d) LAMD = £BAN (d) ZAMD = £BAN

170. ABCD is a parallelogram and P and Q are L0, WWABCD?-T Ife fyaet B
points on the diagonal BD such that DP = ﬁap 3 Q WIFERE R pp = BQ,a AP
BQ,then AP : CQis: cQ Wﬁﬂwm
(a)1:1 (a)l:

(b)1:2 (b)1: 2

(c)2:1 (©)2:1

(d)1:3 @1:3
(24)
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171. Radius of the two circles are 15 cms and
20 cms and distance between their centres
are 25 cm then find out the length of the
common chord.
(a) 15cm
(c) 24 cm

(b) 25 cm
(d) 20cm

172. In given figure, if CD is the angle bisector
of £C and AD = AM, then find the value of

(a) (61 + x)°
(b) 61°

61\°
@ (%)
(d) 90°

173. The length of a rectangle is increased by
60%. By what percent should the width be
decreased to maintain the same area ?

1
(a) 335 %
(b) 355%
()375%

(d) 395 %

174. Today is Monday. What will be the day
after 64 days?
(a) Saturday
(b) Friday
(c) Thursday
(d) Tuesday

175. Each of the two circles of same radius ‘a’
passes through the centre of the other. If
the cirlces cut each other at the points A, B
and O, O' be their centres, then area of the
quadrilateral AOBO'is :

(a);a” (b) ; a*
(c) -‘?az (d) a?

(25)

171, 15 @eft 3t 20 Beft B et 2 g, R
% after it gft 25 Bt 8 | e shar A e @
e |
(a) 15 &t (b) 25 &t
(c) 24 Aft (d) 20 Feft

172. @ g i d AR €D, £C A fgares &
3T AD = AM, T Yy T | 714 FL:

(a) (61 + x)°
(b) 61°

61\9
©(%)
(d) 90°

173, TR SEd A i 60% M e AR
sadht < fraa wider & i S b a1
CEER A CECRER
(2)335%

(b) 355%
(c)375%

1
(d) 39;%

174. af o< GwEm ®, @ 64 AT F AR A i
BT ?
(a) AR
(b) YsRER

(c) TR
(O RUSELN

175. G EAH ‘2’ BT T g0 @ F IR
T & | AR 3 A I O QR A A AT B W HRS
% 3t 0, O' & FZ &, A TP AOBO' F

&eT ferT BT 2
(a) 7@ (b) > a?
(c) {Eaz (d) a?
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INTELLIGENCE TEST

176. Arrange the words given below in a
Meaningful sequence.

1. Key 2. Door 3. Lock
4. Room 5. Switch on
(A)S, 1, 2,4,3

(8)4,2,1,5 3
©1,3,2,45
(0)1,2,3,5 4

177. Arrange the words given below in a
meaningful sequence.
1. Police 2. Punishment

4, Judge

(A)3,1,2,4,5
(B)1,2,4,3,5
(©)5,4,3,2,1
(D)3,1,4,5,2

3. Crime
5. ludgement

178. Pointing to a photograph of a boy, Suresh
said, "He is the son of the only son of my

mother." How is Suresh related to that boy?
(A) Brother

(B) Uncle
(C) Cousin
(D) Father

179. If Ais the brother of B; B is the sister of C;
and Cis the father of D, how D is related to
A?
(A) Brother
(B) Sister
(C) Nephew
(D) Cannot be determined

180. Introducing a boy, a girl said, "He is the
son of the daughter of the father of my
uncle." How is the boy related to the gir|?
(A) Nephew
(B) Brother
(C) Uncle
(D) Son-in-law

(26)

76, 3 forw o ra21 b AR W Spafier

ot 2. AT bl
4t 5. fam 3
(A)5,1,2,4,3

(B)4,2,1,5,3

(©)1,3,2,4,5

(D)1,2,3,5,4

177, < Foo 1o wrat B wrelen SR B AR )

[_gﬁ‘rﬁr 2,991 3. AWY
4. =it 5. fofa
(A)3,1,2,4,5

(B)1,2,4,3,5

(C)5,4,3,2,1

(D)3,1,4,5,2

178. o gk I G i AT F g, Par 4

2T, "I A T 3 TN S AT 31 G 3
e A frg v waftg 22

(A) 1§

(B) =T

(C) ==RT W§

(D) foar

179. AR A, BHFWEY; B, CHr a2, s C D

T ®, D, A ¥ fre yR HefE 20
(A) g

(B) ==

(C) wfts

(D) T & farar st asar

180. @aﬁﬁ@ﬂﬁww%ﬁqw,%ﬁ

w%ﬁm@réﬁw%a%."m?@ﬁﬁﬁﬂ
TR Heiftr R9

(A) weftsm

(B) wr$

(C) 3iFwe

(D) IMTE
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181. Pointing to 3 photograph Lata says, "He is
the son of the only son of my grandfather."

How is the man in the photograph related
to Lata?

(A) Brother

(B)Uncle

(C) Cousin

(D) Data is inadequate

182. If D is the brother of B, how B is related to
C? To answer this question which of the
statements is/are necessary?

1. The son of D is the grandson of C.
2. B is the sister of D.

(A) Only 1

(B) Only 2

(C) Either 1 or 2

(D) 1 and 2 both are required

183. Pointing to a photograph. Bajpai said, "He
is the son of the only daughter of the father
of my brother." How Bajpai is related to the
man in the photograph?

(A) Nephew

(B) Brother

(C) Father

(D) Maternal Uncle

Direction: Find the missing number (Q 184 &

185)

184. 120, 99, 80, 63, 48, ?
(A) 35
(B) 38
(c) 39
(D) 40

185. 3,10, 101,?
(A) 10101
(B) 10201
(C) 10202
(D) 11012

(27)

181, e Tt Y 3N ST FA 7U e et £, e
Y araraht F g A2 1 A2y B et i fra
a1k eren & B whn wafia &0
(A)viré
(B) ==
(C) == T
(D) 321 219aiy &

182. 4fé D, BHIWE R, 4l B, C & 8 waifira 27 39
G o1 3T 2 % forw 0 o1 T v A
1. D %1 97 C T 7 2|
2.B,DHN T2
(A) Fae 1
(B) e 2
(Cyamar 1312
(D) 1 3 2 2} errava &

183. U T oht ST 39T A, AT A F,
verg B 1§ 3 foram it gepeitdt S 7 SeT 3. St
=1 it & fow @ =t & T ey @7
(A) weftsT
(B) ¥I$
(C) T
(D) AT

3T oW dean i S (LH. 184 & 185)

184. 120, 99, 80, 63, 48, ?
(A) 35
(B)38
(C) 39
(D) 40

185. 3,10, 101,
(A) 10101
(B) 10201
(C) 10202
(D) 11012
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186. For wetdh T zﬁgﬁmﬁqﬂammﬁm&

1
86. How many points will be on the face
OPposite to in face which contains 2 points?

(A) 6
®)5
(€4
D)1

187. Here two positions of dice are shown. If
there are two dots in the bottom, then how

187, i ret 1 2 fearfirat foard &) AR AR A g E

many dots will be on the top? e g foig i
(A)2 (A)2
B3 ®)3
(<13 ©5
RS D) 6

Direction: Analo 188 & 189 .
o T (9.4, 188 & 189)

188. Architect : Building :: Sculptor: ?
188. STEhI : Wad = AfdahN - 2

(A) Museum
(B) Stone (A) W
(C) Chisel (B) yert
(D) Statue (© &

(D) S

189. Eye:M:opia ::Teeth : ? 189. af@: e g . ok . o
epctarac e
d y

(C) Trachoma {B)g >
(D) Eczema a

(D) Ty

(28)
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190. A, P, R, X, § 3 7 uwifm oAz & § s 2 %2

190. A, P, R, X, S and Z are sitting in a row. §
FHA s par T E RAFTEATAS 2 PF

and Z are in the centre. A and P are at the

ends. R is sitting to the left of A. :
e Who is to ard sire Py 872
A (A) A

(B) X o

(Qs ©°

(D) 3 (D) Z

191, 55 Fores o1 T4TH A |1 3% & 2

191. Which number will replace the question
mark ? :
abwabyan
8
q > 26 8}/ ? | 12 (a) (b) (c)

(@) ®) (©) (A) 25
(A) 25 (B) 24
(B) 24 © 23
(C) 23 (D) 22
(D) 22

192, =1 Fiee %1 T S 9T 37 M 2

192. Which number will replace the question
mark ? e e o o o o
ONONONORONO |
(13) (39) O
(@) (b) ()

@ @ o (A) 30

(a) (b) © B) 26
(A) 30 Ec; 28
(B) 26
(C) 28 (P)=2
(D) 32

193. Which one will replace the question 193. s RS T TR 0 1 SIS 7

mark?

~
~J
~
[9,]
[o)]
EY

(D) 47

(29) SET-A/CLASS-VI/2024-25



194. Which one will replace the question
mark?

N .
9\ "6)

N X
XJo ;\ 3( 2
(2 ~ \ 7 \
\ ;
(x_ - N ', ) / \‘\_‘E

(A) 36
(B) 48
(C) 38
(D) 30

195. One morning Udai and Vishal were talking

to each other face to face at a crossing. If
Vishal's shadow was exactly to the left of
Udai, which direction was Udai facing?
(A) East

(B) North

(C) West

(D) South

196. If South-East becomes North, North-East

becomes West and so on. What will West
become?

(A) North-East

(B) North-West

(C) South-East

(D) South-West

197. Choose the word which is different from
the rest.
(A) Chicken
(B) Snake
(C) Swan
(D) Crocodile

198. Choose the word which is different from
the rest.
(A) Cap
(B) Turban
(C) Helmet
(D) Veil

(30)

(A) 36
(B) 48
(C) 38
(D) 30

195. e e 7 S Fer e SR o AT

A FE A af Forarrer At v 32 6 i ATt
3 oft, it 3z 1 oy o foramr # o2

A)g

(B) S

(C) ufEm

(D) afor

196. 3f afdror-qd vt o e &, I-gd wft =

ST & SeaTiel IFsny o s
(A) ST-E

(B) St-ufiy

(C) afyor-gd

(D) Zfor-afiny

197, 8 I T ot kel & ey

(A) g5
(B) dfy

(O}
(D) wRI=s

198 SR <h e o

(A) Ty
(B) wrh
(C) 2z

(D) e
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199. ':‘-‘"t"fv the figure that completes the 199. 38 ATHA FI T&=H 3 Az (X) 3 qu et
pattern (X). (A A

¥ N B i 7| b4
(X) (1) (2) (3) (4)
(1) (2) (3) (4) (A) ]
(B)4
©3
(D)2
200. Choose the alternative which is closely 200. % fare g <l faw e waer i o e &
resembles the mirror image of the given bt fhreterr-Seren & |
combination, ANS43Q12
ANS43Q12 (1) AUZREDTS  (2) SIOEMZHA
(1) AMSAEDTS (2) STOEDEUA (3) SNAEROST (4) rSOREAUS
(3) 2UAEMDST  (4) PSDPEAUS
A1l
(A)1 (B)2
(B) 2 (C)3
(€3 (D) 4

(D)4

(31) SET-A/CLASS-VI/2024-25
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